LAO35 | PATH: K:\LansingAp\0429703\Draw\S‘ee
mmmmmmmmmmmmmmmmmmmmm FILE: localizermast2.dwg
r 3/4"x10' COPPERCLAD STEEL 1 UPDATE BY: johee

GROUNDING ELECTRODE NOTES: SURVEY BOOK #
| CADWELDED TO COUNTERPOISE NUIES: XREF DWG:

(2 REQUIRED) XREF DWG:
| 1. SCREW ANCHOR SHALL BE A.B. CHANCE COMPANY CAT NO CT112-0262. SEE FAA-GL-918D DATE: Mon 8/27/05 8:51pm

STEEL BASE PLATE

(SEE NOTE 3)“\

(INCLUDED IN SPECIAL PROVISIONS) GENERAL SPECIFICATIONS FOR INSTALLATION INSTRUCTIONS
AND SOURCE INFORMATION.

I
l
l
~—r [ 2. ANCHOR SHALL BE ORIENTED WITH RUNWAY CENTERLINE AS SHOWN IN TOP VIEW.
|
|
|
I

| BASE PLATE SHALL BE HOT-DIPPED 3/8" x 18" x 18", BOLTED TO SCREW ANCHOR TOP PLATE
WITH (3) HOT-DIPPED GALV 7/8" x 3" STRUCTURAL BOLTS WITH NUTS AND LOCK REVISIONS
| WASHERS ON A 9 172" DIA BOLT CIRCLE, ORIENTED AS SHOWN. ONE BOLT HOLE NUVBER pays paynes

IS TO BE FIELD DRILLED WHILE THE OTHER 2 MOUNTING BOLTS CAN USE THE
EXISTING ANCHOR SLOTS.

4, THE *2 GREEN INSULATED GROUND WIRE SHALL BE 187+/1,000' AND 58,500 CM. NO STRAND
OF THE CABLE SHALL BE SMALLER THAN *17 AWG.

5. ORIENTATION OF THE TOWER AS SHOWN.

g"

| LINE PARALLEL TO
EXTENDED RWY ¢

| (SEE NOTE 22
| &

TO THRESHOLD
s

| WHEN DRIVING ANCHOR FOUNDATIONS, THE CONTRACTOR SHALL CHECK PLUMBNESS WITH 0 1 2
A VERTICAL LEVEL ON SIDES OF THE SHAFT., MAINTAIN PLUMB WITHIN 1/8" PER F e ——
THE SHAFT LENGTH. SEE SPECIFICATIONS FAA-GL-918C (NCLUDED IN SPECIAL F’ROVISIONS) THIS BAR IS EQUAL TO 2"
| l FOR ADDITIONAL INSTRUCTIONS. AT FULL SCALE (34X22).
-IN- " OF ATION.
| ‘:,/‘E?) /U% TBE %%% 1'3“?“2"4”%% . SCREW-IN-ANCHOR FOUNDATIONS SHALL BE INSTALLED WITHIN 2" OF DESIGN LOCATIO
! : 8. WHERE SPECIFIC MANUFACTURERS OF EQUIPMENT ARE GIVEN, THE CONTRACTOR MAY
I CONTINUOUS WITH BUILDING SUBMIT ALTERNATE EQUIPMENT EQUAL TO THAT PROPOSED FOR CONSIDERATION BY
l COUNTERPOISE THE ENGINEER. \
1/2 "DIA PVC SWEEP
| | ELL CONDUIT (12" DEEP) o
N TO CADWELD CONNECTION -l
| | (2 REQUIRED) =
TO BUILDING
_____________________ TO BUILDING
GROUND ROD\I_ 1" GRoUND ROD . E E
N
! TOP_VIEW t x 5 0
LEAVE 20' MIN COILED LENGTH a. < =
?SFEE*ZN c(}?_FEEEL\I} INSULATED GROUND £ o 8 P
5/16" SS 5/18" SS <0 ]
HEX NUT FLAT WASHER TOWER SECTION -z o -
ad | -
- = o > =-ip
WELDED ONTO. PLATE | S 2 GREEN INSULATED COPPER GROUND z9g ~ '&l w
»
WITH GALVANIZED HEX . ot ‘ £z =
NUT & LOCK WASHERS l 3/16 TO GROUND LUG DETAL ™ GROUND LUG 25 > - 5
NUTS To"S0TToM oF - 5/16" S5 0% | @
ALL THREAD ] nn] ‘ FLAT WASHER 2 3 =
' L 5/16"-18 SS ] 3 -
' Ll b HEX BOLT z I
DETAIL =
8" CRUSHED < >——A : NONE
4~ ROCK DEPTH SCALE: NO g
[ ]

I 7Y
b A
SRS A |
1/2" PVC SWEEP ELL CONDUIT WITH GALVANIZED HEX ol
TO CADWELD CONNECTION NUT AND LOCK WASHERS //I/
(2 REQUIRED) (TYPICAL OF 3)

£ ¢
I e et 1o ¢ 5|4
E
*8 GREEN INSULATED )
z COPPER CROUNE _OUTBOUND FROM | _ A 1 EXTENDED (SEE NOTE 5) § se
i ~TRUNWAY END ° §g§ %
C > ) S~ £9¢| 1%
+470 BARE COUNTERPOISE SCREW ANCHOR FOUNDATION 3/4"x10' COPPERCLAD STEEL GROUNDING =g 3
L (24" DEEP / (SEE NOTES 1, 2, 6, AND 7) ELECTRODE THERMOWELDED TO +4/0 hggzo
COUNTERPOISE PER_FAA-GL-918C MARKER ANTENNA goo; .§"
GENERAL SPECIFICATIONS (INCLUDED TOWER 38 g
IN" SPECIAL PROVISIONS)(2 REQUIRED) O:58 30
DESIGN 8Y: AB
i TOP V|EW DRAWN BY: JRO
WITH TOWER ORIENTATION CHECKED BY: AB
e APPROVED BY:
™ DATE: 06/22/08
ELEVATION VIEW - SCREW ANCHOR JOB No: 04297-03
L. PROJECT: 1GQ--3482
l.} — _0 4 B ALP. PROJECT: 3~17~0121-B23

\ " SCALE IN INCHES ' v

SHEET 11 OF 18 SHEETS



